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S BFSE=T D
Bu: Msisc el
CHol: D2 A e (9 ®Rl)
SN HH . C(B) - MRAY - BES Ofl AF o4 e HRE2
GAEUI| EXNAS 30,324 25,270 5,054
401 Al&HI L2 OHYI 30,324 25,270 5,054
01 AIEHI 30,000 25,000 5,000
Ottsa== =X & 3,000,000 *107H 2 30,000
03 A4 =0 324 270 54
OUtSN4E H+HT &X AL20 30,000,00024#1.08/100 304
s at=E2L 45,000 39,749 5,251
201 LetEg] 45,000 39,749 5,251
01 AtR2teld 45,000 39,749 5,251
OxnLaEAE =EZHA =2 300, 000& * 15004 A 45,000
SHENS &= A2 80,000 278,995 A 198,995
& 24,000
= 56,000
307 RIZH0IH 80,000 0 80,000
< 24,000
= 56,000
05 QIZtREZ 80,000 0 80,000
OsHE Oisd=% fE22l 1,000,000& *807H 2 80,000
= 24,000
s 56,000
St EHIAS 153,600 232,088 AT78,488
ST YA 153,600 30,648 122,952
|




SN BEAE =T
T dots=E2e
&l ot ZHIALY (chel: =2
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
202 O4dl 2,160 0 2,160
01 =3LHAHbI 2,160 0 2,160
Odt=ZHIM EX 20,0002 x3& 3«12 2,160
401 Al&HI L2 OHYI 151,440 30,648 120,792
01 Al&Hl 150,000 30,000 120,000
O ss(ssaHel~2HAF) st=FEHHIALY 500m=100, 000& 50,000
OFd=ss ot=7dHIAY 500m*200, 000& 100,000
03 A& =0 1,440 648 792
Odss(=ssaAHURHYR) o= EHl AIERUYI 50,000,000 & *1.08/100 540
ORd=S ot=7EUIAIY A& U 100,000,000% *0.9/100 900
HEE SSUH (M= AILSEESA) 1,829,774 3,988,965 A2,159,191
s 317,000
= 1,512,774
E SHE HESE HEAY 251,800 770,000 A 518,200
s 200,000
i 51,800
401 Al&HI L2 OHYI 251,800 770,000 518,200
s 200,000
= 51,800
01 Al&H 250,000 770,000 A520,000
OstEE sHEMEE HLAS 250,000,000& » 14! 250,000
s 200,000
s 50,000




SN BALE=X D
o AT R
ol 222 RIUM(MEEAASHE) (el a2
SA - EB S (31H) - KR A Akl e =
03 Al&=CHYI 1,800 0 1,800
OStEH sHEMESS HLAS 250,000,000& *0.72/100 1,800
A grata=E2tel 357,214 1,778,245 A 1,421,031
101 QIZ4H| 57,026 54,314 2,712
10 JIZtH22AHSES 57,026 54,314 2,712
Odot=E MEE ZE 22Y 30,9003 »20 L x7H x 12 51,912
o428z 51,912,000 =0.0985 5,114
201 LBt 3| 256,148 257,803 A 1,655
01 AF222/H] 44,456 44,943 48T
O et=ZH| 39,656
—&=5 AMEBE DKM I 65,000 x35*128F A 2,340
&= MEE DAMESE 23 2 66,000& x 123l 792
&= O8I A8 72 2,880
ItECIX 205,000& 63 1,230
Z2H d3(5M) 66,000 *102| 660
Zely d3a(2et) 198,000& *53| 990
—=dAdAMNE R2HE 2L 1,000,000 *3& 3,000
—a=E HEINE oY 100& x25 *4,0000K 800
—&+5 MEZE USO0IXH d823d 70,0003 12 840
—&=E s & o =2 HA| 26,004
B F2t 33,2003 *30H 2> x525 5,180
= Fot 1,130,000& x12& 13,560
2= 2] 1,456,000 *43| 5,824
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B =1
oot 2l
Sles ZIUH(METAASHE) Chol 2 2
SN HE - SI(E) - NRAY - BES &k oy e =2
01 3L LI 5,280 2,400 2,880
Oy & REEHaE =2 A FA0GHY 20,000 x2H x5« 123 2,400
OREa+E AIE2 22| RFA0L| 20,000 x2H 6L 123 2,880
206 M=l 38,760 27,936 10,824
01 M=z 4l 38,760 27,936 10,824
08 U ML HaotE 38,760
—PAC 2803 *2,500kg*2H 2=+ 123 16,800
—JbE AT 300& *1,000kg*20H =+ 12 7,200
—XOIEAMUES 360& *1,000kg*3H 2+ 12 12,960
—=dAME SEANL L 285 2 30,0003 x5&+12& 1,800
CE2Z UM AL 362,160 402,880 240,720
401 Al&HI LRI 362,160 402,880 240,720
01 A&l 360,000 400,000 40,000
OL=22 WHMAMZ 100,000, 000& *3km 300,000
OLZFAHEI uH 400,000& *150H 60,000
03 AlZ=0HdI 2,160 2,880 AT20
OL=22 WHAME AIER0HI 300,000,000 *0.72/100 2,160
MxT 2t 21532 70,000 70,000 0
401 Al&HI LS OHYI 70,000 70,000 0
01 Al&H| 70,000 70,000 0
O&=+E t=2 2182 4] 1,400,000& *507H 2 70,000
ST S=3A 50,000 36,000 14,000
401 Al&HI LRI 50,000 36,000 14,000




SN B#FLE=RD
HH: M5tEC e
Ol US2 DI (MLTASSHIH) (69l &2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 a%ggi; HRZ2
01 Al&H 50,000 36,000 14,000
O& %S IS4 A 1,000, 00024 *507H A 50,000
22 M4T ST HEBDA 503,600 65,000 438,600
401 AIEHILR b 503,600 65,000 438,600
01 Al&H 500,000 65,000 435,000
ORPHLE Z47Y HFYBA 100,000, 0002 *5kn 500,000
03 A&l 3,600 0 3,600
ORPMLE Z47Y SHIIA A& 20| 500,000,0002 0. 72/100 3,600
L o{ Dt DEHRIAL X 235,000 0 235,000
2 117,000
2 118,000
401 AIEHILR T 235,000 0 235,000
2 117,000
2 118,000
01 Al& 235,000 0 235,000
OStOI D DEFAHIAIL SXIALS A A &Yl 235,000,0002 * 14! 235,000
2 117,000
2 118,000
SHEHMRIA S AR (SR HLAS S B3 H) 4,577,421 2,908,782 1,673,639
= 3,192,000
| 520,000
= 424,000




S SEAE =KD
M ot 2l
Etel: St=XelAMEEX(=Z2HEASSESIA) (9 EH
SA BB S(S) - NRAY - BES of & o S DB
St=HMelAEEX(=Z2MdMESESA) o 441,421
L3202 ot=EAE XA 1,042,741 492,521 550,220
= 727,000
p) 187,000
& 62,500
= 66,241
401 AlZ2HIZ 28I 1,042,741 492,521 550,220
= 727,000
Jl 187,000
& 62,500
= 66,241
01 Al£HI 1,039,000 489,000 550,000
SIA0IE ot=Z A4 XA 1,039,000, 000& 1,039,000
= 727,000
Il 187,000
S 62,500
s 62,500
03 A4 =20 3,741 3,521 220
O f=0tSct= A2 EXIAME AE204 1,039,000,000& *0.36/100 3,741
SF02 o= AME XA 1,859,671 1,238,443 621,228
= 1,297,000
D) 333,000




SA SRS
M Mot 22
©el: SteMeAEEXI(EMEMESESAH) (ctel: &
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
SF0I2 ot A48 XA = 111,000
= 118,671
401 AlEHIZ R OHY] 1,859,671 1,238,443 621,228
= 1,297,000
| 333,000
& 111,000
= 118,671
01 A&l 1,853,000 1,234,000 619,000
O =502 ot A4 XA 1,853,000, 000 * 14! 1,853,000
= 1,297,000
| 333,000
= 111,000
o 112,000
03 Al&=CHYI 6,671 4,443 2,228
SEF0ISot=TAd AXIA 1,853,000,000& *0.36/100 6,671
o of=NMMNII M2lAE XA 1,675,009 609,818 1,065, 191
= 1,168,000
& 250,500
= 256,509
401 AlEHIL204bI 1,675,009 609,818 1,085, 191
= 1,168,000
& 250,500
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SH BEAT=NT
M Mot 22
©el: SteMeAEEXI(EMEMESESAH) oo dA
SN EY O (BH) - MR - Ba= o e =2t
401 AlEHIYL 2048 = 256,509
01 A&l 1,669,000 606,000 1,063,000
Oot=MMNI| MelAd EXIAY 1,669,000,000& 1,669,000
= 1,168,000
== 250,500
i 250,500
03 AlZ=CHYI 6,009 3,818 2,191
OSt=MMI|l MelAld XA Ald 20| 1,669,000,000& *0.36/100 6,009
AR ST AE ESAS(FENLAMLSESIH) 1,067,831 342,448 725,383
= 870,000
| 155,000
= 19,500
= 23,331
HAI0IS St AE AXAS 1,067,831 342,448 725,383
= 870,000
| 155,000
& 19,500
i 23,331
401 AlEHIZ204YI 3,831 342,448 A 338,617
03 AlE=2CHYI 3,831 2,448 1,383
OYaIOISot=SAIEEXIALS Al E 204 1,064,000,000& *0.36/100 3,831
403 XXM SK=201H 1,064,000 0 1,064,000
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SN SFLE=TD
M MG e
S©Hel: SOIE0I2 Gt HHIAS (SENHAILSEFA) (e &
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
401 AlEHIZ S J| 14,000
[ 4,500
z 5,193
01 Al&H| 77,000 0 77,000
OXLHOIE GtETAIE XA 77,000,000 77,000
= 54,000
Il 14,000
[ 4,500
z 4,500
03 A=yl 693 0 693
OFUOIE oIS AlE HXAY AIE201 77,000,0002%0.9/100 693
ASA OS54 2 HHIALY 129,929 0 129,929
= 90,000
p) 23,000
[ 8,000
2 8,929
401 AlEHIZ S 129,929 0 129,929
= 90,000
p) 23,000
< 8,000
2 8,929
01 Al&HI 129,000 0 129,000
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S BFAT=X D
HE: AT R
CHol: SOEDIS SH4EEUIA (SENLAMASEHEIH) (el a2
SN EH O (S]H) - M A O &b o e =32t
O_lESADIE oFb=2 EHIALE 129,000,000 129,000
= 90,000
J| 23,000
T 8,000
= 8,000
03 AlE=20HHI 929 0 929
ObIE A0S b2 EBIAIE Al& 2] 129,000,000 x0.72/100 929
Z=MOIS ot AE EXAY 44,688 0 44,688
401 AlEHI L] 44,688 0 44,688
01 Al&H| 44,688 0 44,688
O3+ =d0t= ot AE- 2 1,625,000,000& *2.75/100 44,688
=8 oI Al AXALE 99,710 0 99,710
401 AlEHI L] 99,710 0 99,710
01 Al&H| 99,710 0 99,710
O=2%8 dlx=T A4 Jl2 ¢ 3,835,000,000& *2.6/100 99,710
A0S Sl AIE EXAY 62,752 0 62,752
401 AIEHIZ2Ub] 62,752 0 62,752
01 Al&H| 62,752 0 62,752
OJtell A0S ot AIE 4 2 2,368,000,000& *2.65/100 62,752
St BHIAIE (=2 IHE AL E L 5 H| 570,573 984,610 A414,037
= 452,000
J| 69,000
o 49,573
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SN HASE=TY
M Mot 22
©el: G2 HEHIAS (HEMEAME S LS AH) el &)
SN EY O (BH) - MR - Ba= Aol e =2t
28 S22 XA 570,573 302,160 268,413
= 452,000
| 69,000
= 49,573
401 AlEHIZ 2] 570,573 302,160 268,413
= 452,000
| 69,000
= 49,573
01 Al&Hl 567,000 300,000 267,000
ORdot=2HE X ALY 567,000, 000& 567,000
= 452,000
| 69,000
i 46,000
03 A= 3,573 2,160 1,413
OFgot=2HEXAMST AIER 567,000,000& *0.63/100 3,573
Ot HBIAS (=ZENLASELZ A 2,025,430 1,740,060 285,370
| 1,134,000
= 891,430
St HES 2 &4 342,610 335,560 7,050
401 Al&HI YL SO 342,610 335,560 7,050
01 Al&HI 340,000 333,000 7,000
Odt=& =4Ag 90,000, 000& 90,000
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SN BELEEN Y
HE: AT
©Hel: ot=S UM (EIMEAMSSESIA) (ctel: &
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
Odt==2tH 215 ExAt 250,000,000& 250,000
03 Al&=C0HYI 2,610 2,560 50
Odt=E EE MY AI&2C04HI 90,000, 000& *0.9/100 810
Odt==2 2= ExAS AIZ 20| 250,000,000& *0.72/100 1,800
SAIIZAE 2F2tel 1,682,820 1,404,500 278,320
Jl 1,134,000
= 548,820
201 LBt 3| 412,820 294,500 118,320
Il 287,000
= 125,820
01 At 2teld] 100,920 4,000 96,920
Ooget=8Hl 100,920
—E3ELR 72 50,000& 23 100
—IIEErYEaMelses DXNA 2L 60,0003 102 A 600
—330tHM2lAlE Jl=&IEH| 52,520,000& 52,520
| 37,000
o 15,520
— =LY EaMelAld JlsdE] 47,700,000& 47,700
| 33,000
i 14,700
02 2329gH| 311,900 290,500 21,400
O 3323 % WA 251,900
—ot=% g3l 1,500,000& 1,500
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SH BEAT=NT
M Mot 22
tel: StSEUIAI (ML AIE SESIAH) el &)
SN EY O (BH) - MR - Ba= 01l &k o Bl =2t
01l &
—SdJI=ANE HIRS 200,000,000& 200,000
| 140,000
o 60,000
— 4212336t elAE d)Ies 300,000& x 144 A+ 12 50,400
| 35,000
i 15,400
O AEZEHIRXIH 60,000
—dJI=AE SANE=HI 40,000, 000& 40,000
| 28,000
[ 12,000
— 22335t HMelAE |RXEH 20,000,000& 20,000
| 14,000
o 6,000
207 A0 60,000 50,000 10,000
01 AREAHI 60,000 50,000 10,000
Oot=E IR Z M4EEY 30,000,000& 30,000
OSFIIZAE2Y |/ 4EEH 30,000,000& 30,000
307 2IZtol& 1,150,000 1,020,000 130,000
J| 805,000
i 345,000
05 QIztEZ 1,150,000 1,020,000 130,000
OsdIIx=Al4 RBIZIRIEZ 1,000,000, 000& 1,000,000
J| 700,000
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SN BT =X
HE: MNEtaC e
Sl GHESHHIAN (S EINS AR S5 ) (5l &2
SH-EH . A(BH) - NRAY - BES Off &+ o4 glggi; HRS
2 300,000
OARDBBG4HMEIAIL Q12t9E 3 150,000, 0002 150,000
p] 105,000
2 45,000
401 AIEHILSTHYI 50,000 30,000 20,000
| 35,000
2 15,000
01 Al&H| 50,000 30,000 20,000
OBZIIZNE L LRADZIoI+HAAL AT 2L AL 50,000, 0002 50,000
p] 35,000
2 15,000
405 Xt&hz S| 10,000 10,000 0
o] 7,000
2 3,000
01 KHAUSEHSY| 0,000 0,000 0
OSAIZANL2Y I 2 0,000, 0002 10,000
p] 7,000
2 3,000
CABBRA(SEMLANLSLESIH) 160,000 0 160,000
| 100,000
2 60,000
egsz e 160,000 0 160,000
| 100,000
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FAH: E=E=R1H
& HoISR & Hel
&2 HIIS A2
SN B CR(SH) - MRAY - B2 0l & 24
—MYDISEH ¥ 2 EES MHE 300& *2&+1,0000H 600
=MD EYHSEDI ADE MH 100, 000& 134 1,300
—EYSI HII2 ™l 1,000,000& *23| 2,000
—UHE8HIIZ FI8Xe =2 10,000& «250CH 2,500
—HII2dE 2423 200,000& *52| 1,000
—MDIE Heg HHES 2 10,000& *10& 123 1,200
—MgDRIdHeld A FFuH 100, 000& *5&*23] 1,000
— MDAl EAaze ARF 2¢ 10,000& 10&*12& 1,200
— 22N E QoIS E3s8 7,000,000& %13l 7,000
—HEE ZMIHA ZAE 350, 000& 4= *43| 5,600
- 85 =23A =8 331,000& 123 3,972
—HE&E =8 Xot=23A =2 169,800& 93 *43| 6,113
—MYDIAMHelE MOt HE =2 200,000& x12& 2,400
A2ZEAIE DI RO E U™ =22 450,000 *12& 5,400
—AZFAlA HIATH IS 2l 210,000& x20& 4,200
—AZA4d HEELH A== 200,000& =13 200
=MD/ H2E CINER/ESS g 18,000& »12& 216
— KNSt HIOIEA =2 55,000 »3CH 165
—33st¥4 datx Fal 100, 000& *5IH 2 500
—0l=s4l 2013t &4 2asH| 50,0003 1071 2 500
—MDJINEAIE ZI1Z At 17,000, 0003 * 104 2 17,000
O 2d+¢ 1,470
—HIISHM2AIE FEHIY FUXNFI =SS H&+E 70,0003 x5&H x32] 1,050
— Ol S22 AAoRA 70,0003 x2&H x32] 420
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7,000& x6H 23| x12&
7,000& «10E 30
7,000 x20H «5

50,000& x20E *22
30,000 x20E %12
90,000 x20E %12
50,000 x20H #2328

5,650 «350Kw~ 123
B0& 2, 100Kw*365

1,200,000& x13]
900,000& 13!
900,000& 13!

1,000, 000& *12

1,360 *302| & 90

1,000, 0003 = 1CH
250,000 = 10CH

3,808
1,008
2,100
700
6,400
2,000
600
1,800
2,000
372,652
73,720
69,720
23,730
45,990
3,000
1,200
900
900
1,000
3,672
3,672
265,260
1,000
2,500

118,342
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2AM: SE=X1
g Xes 2 el
el Xel o M2
= A CHO| (1)) - A S A Atol e =2
—A2AIE HEE 1,000,000& «12& 12,000
—A2FAlA DT 1,000,000& x43| 4,000
—A22 EsEA U 2,000,000 x23| 4,000
—AZ2ZAE 2EREH 1,670& x502| E{ *8A| 2+*300L 200,400
—=4)| 8% X b| 2,000,000& *23| 4,000
—=2M)| SFMH 1,670& =152 E{ *4 Al 2+x300L 30,060
—MEsHdEE AIEEH B+ 500,000& x2& 1,000
—SEstEA X EH] 100,000 * 1304 A~ 1,300
—A2s AIEEH 5 500,000& x10= 5,000
O XtFaety| 30,000
— S 22| (2/E) 20,000,000 *1CH 20,000
—HITE(5E) 10,000,000& = 1CH 10,000
203 SR =&Y 1,000 1,000 0
03 AMHBF=AARFHX 1,000 1,000 0
OMAHI IR MK el & A HRF 20,000& *10H *53| 1,000
206 M ZHl 22,540 18,340 4,200
01 MZdl 22,540 18,340 4,200
O Mzl 22,540
—A2AIA JIAKE 4EF 8,700
MG 2003 *20Kg*300! 1,200
S5 E 2,500& *10Kg*300! 7,500
— MY E e 30,000 12| E{*200 6,000
— MY JIAZAIE 100,000& *10& *23] 2,000
— MYl Es Ml 5,840
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SM BRSE=XD
& HoISR & Hel
&2 HIIS A2 (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
DEXNESEH 5,000 x2Kg*365 3,650
A 205 2003 «30Kg*365< 2,190
401 AlEHIL 204Gl 236,656 209,600 27,056
01 Al&HI 235,000 208,160 26,840
O Al&HI 235,000
— 22N OOl 28 2 EXAE =3 At 200,000,000& » 14 200,000
—HEAE =3CE B33 At 15,000,000& » 14 15,000
—SAUAAN 2E ZSSoHEA 2L IA 20,000,000& =14 20,000
03 A& 1,656 1,440 216
O 22tAlE Ool=d M2 E SXAIE Hx=3B A 200,000,000& *0.72/100 1,440
O SUYA 2 =& 22 SA 20,000,000& *1.08/100 216
HeEES+H 111,693 114,698 A 3,005
101 124 H| 16,293 19,398 23,105
10 JIZtNZ2Z2NSE+ 16,293 19,398 A3,105
OMdDIE 2el=H & MHEg ARY 30,9003 2 %240 14,832
o4 =z 14,832,000& *0.0985 1,461
202 O4Hl 3,000 2,900 100
01 2UWAHI 3,000 2,900 100
OMAIIEI & X NESS Kl 20,0003 x5 +32/ 10 3,000
301 LBt Az 92,400 92,400 0
12 JIEtE &3 92,400 92,400 0
ON&gss itz K= 4,500,000 x12& 54,000
ONaEss =& Zd= 3,000,000 123 36,000
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A 3=
M HOISAEe & Hel
&2l HIISH (el &)
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ
OMIIFI AAX Za&= 50,000& »23| x 123 1,200
O1888 MEAOT a3 50,000& »23| x 123 1,200
SEHHI LA 61,324 96,000 A34,676
< 11,000
s 50,324
301 Let2d= 31,000 36,000 /5,000
< 11,000
= 20,000
12 JIet243 31,000 36,000 5,000
OsZEHHY =1 2d= 31,000,000 31,000
< 11,000
[ia 20,000
401 AIEHIZ 20| 30,324 60,000 N29,676
01 Al£HI 30,000 60,000 30,000
sZ HHlE dotd XA 30,000,000 *17H 2~ 30,000
03 AIZ=20ibI 324 0 324
O sZEHHEEotE XA AIZRUbI 30,000,000 *1.08/100 324
F20t2 024 AE 460,400 0 460,400
202 O4dl 2,000 0 2,000
01 =LHOIBI 2,000 0 2,000
O EXNSEXZAL ¥ B4 20,000& x53| x2EH + 10 2,000
401 AlEHIZ =0 458,400 0 458,400
01 Al£HI 458,400 0 458,400
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S BFLE=X
=L BRI
BEE:

el H el CEREE
S BB SR (SIH) - NRAY - B sl e 52
Otas 220t 0IFAE 2E= 3,500,000, 000 *8/10,000%37H & 8,400
O0l=&d= 2 MEOAT|AZ 18,000, 000& »25A| CH 450,000
EHII= AZAE DHSA 133,711 0 133,711
401 AlEHIL 204 133,711 0 133,711
01 AI&HI 133,711 0 133,711
OMEHIIZ A2AE WHSAH 2AIZAH| 5,285,000, 000& *2.53/100 133,711
HEdEs 206,861 136,476 70,385
= 44,080
& 35,184
= 127,597
NABS2ESFA 17,839 13,883 3,956
NABS2EsFA 17,839 13,883 3,956
101 @124 H| 6,789 3,233 3,556
10 JIZtH2=HsSE+ 6,789 3,233 3,556
OR&X Z&d 22 30,9003 x5 «4 4 A %10 6,180
o4 = 6, 180,000& *0.0985 609
301 LptBazg 2,650 2,650 0
10 HAIAMHIEA S 2,150 2,150 0
OXstsd tNsd 245 50,000& 16 800
Ok TUHEs JAUs A 243 30,0003 45 1,350
12 JIe2A3 500 500 0
OHES KRIXA AlY 500,000& 500
307 QIztoIA 7,000 7,000 0
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B BHAC=X D
M NHEEES
& NS 2s=A (&9 H
SH-EH . O(E) - MBAY - B of Ao S HRS2
02 0QI2tHFAYH X 7,000 7,000 0
O= NdE2s JAUS ZHXA 5,000,000& x 14! 5,000
Ok XdE2s FAUS ZHXA 2,000,000& x 14! 2,000
405 RHabFESHI 1,400 1,000 400
01 XNAMLEEFSHI 1,400 1,000 400
O2t0lat& A 2 &Xl 700,000& =24 1,400
OrM S 21l oll ol & 108,585 87,314 21,271
= 21,280
& 29,484
o 57,821
O SZ IIoHH A 108,585 87,314 21,271
= 21,280
= 29,484
o 57,821
202 04| 960 0 960
01 =2UWddl 960 0 960
O0MES=E2 25 Y Uygctx 20,000& x2H*23| *12& 960
206 M =2 H| 2,000 1,000 1,000
01 THZ=HI 2,000 1,000 1,000
OslE ZHE 2HH HE L2 1,000,000& *23| 2,000
301 LBEtEAZ 61,945 86,314 N24,369
& 18,284
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S= 1ol s A
= - ERI(EH) - AR A Ao gggﬁ =2t
301 LEtE A3 = 43,661
12 JIet243 61,945 86,314 A24,369
OO0t == UldH 60,945,000 60,945
& 18,284
o 42,661
OZgHch &l 2 200,000& +52 1,000
307 elztols 43,680 0 43,680
= 21,280
= 11,200
o 11,200
02 2I2tFaEx 43,680 0 43,680
OO0 S STl ol 0l & Al 43,680,000 43,680
= 21,280
= 11,200
[ 11,200
g2 MZ2el 80,437 35,279 45,158
= 22,800
& 5,700
s 51,937
CHOIEH = A NEE 6,720 5,600 1,120
201 LBt 5,760 4,600 1,160
01 AtR2ciHl 1,000 0 1,000
OAZHH(102) 20,000 509 x 12 1,000
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SN BELE=ND
gz NosdEs
ool 2¥sE M2 (el al)
SA-FB L SA(3) - MEAY - BLS 0 &2 e B2
02 522944 4,760 4,600 160
02223 % MA 760
— XtS XHAl 150,000& 23| 300
- ANSHEEZ(ZES8) 200, 000& »1CH+23] 400
— NSk SBNERE= 30,000& = 1CH+23! 60
OxadetH(ZE858) 4,000, 000& «1CH 4,000
202 044l 960 0 960
01 =SUHAHI 960 0 960
O UG 960
— HotHEgA 88 & Als dA2 g 20,0003 x2&H »23| 12 960
=5 UsFE)| 29 34,200 0 34,200
= 22,800
< 5,700
= 5,700
307 2120l A 34,200 0 34,200
= 22,800
= 5,700
= 5,700
02 UAHASBX 34,200 0 34,200
OZENE=FIII 2FelY 34,200
—SXl2teldl 26,880,000 26,880
= 17,920
== 4,480
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S BFAT=X D
M NHEEES
el LEESE M2 chel XM
- B2 (317) of . Bl Atol e =2
= 4,480
— & =AY 7,320,000 7,320
= 4,880
T 1,220
= 1,220
S XS OEA & 3,840 1,605 2,235
201 L2 AL 3,840 1,000 2,840
01 ArR2t2|Hl 2,340 500 1,840
Ogbt2H| 2,340
—HiE:JOtA s8I0 & 100,000& x5&*13] 500
—HiEOIA 310 & 100,000& x5&*13] 500
—eEEdE)| E=X1 & 30,000& x4 Z *23| 240
—NsSA HAHES HICI2 HOolZ F¢ 3,000& *50H4 150
—HICle T 45,000& x10=H 450
—HICI22tHI2t BiE el P& 250, 000& *x2 4 500
02 =32&H| 1,500 500 1,000
OA& &l & 1,500
— HICIL2 XSX IS IJIA &Hl || 300,000& *55*13| 1,500
HHHESAIE & 22 6,948 7,344 A 396
201 B2 HH| 2,508 3,364 A\ 856
01 At22t2ldl 1,600 1,500 100
Ootg 4 50,000& x2E *83| 800
OHJI2 =40 400,000& x23| 800
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S BEAE =KD
S MEMEIH BS
Chel: FElAbe! (sl &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
g 382,400
= 601,531
o 2,133,563
T A 302,094 220,946 81,148
= 120,466
= 38,605
iy 143,023
A 256,149 220,946 35,203
= 120,466
= 38,605
o 97,078
401 AIEHIZ20HY] 256,149 220,946 35,203
= 120,466
= 38,605
o 97,078
01 Al&H| 248,978 213,568 35,410
OZH+ =¥ 1,855,578& *19%ha 35,256
= 11,690
= 6,156
= 17,410
Oatx2 8718 =¥ 3,272,000& *2ha 6,544
= 4,582
== 392
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BE =X
MHMEH B
ENES celme
SN BB O (SH) - MRAY - HES Akl e =

i 1,570

ocont =¥ 1,202,000 *5ha 6,010

= 1,565

= 890

o 3,555

OZUS getxd 3,601,000& *3ha 10,803

& 3,240

= 7,563

O2Us B9x¥ 11,538,866& *x15ha 173,083

= 85,500

= 26,250

= 61,333

OZXEX HIZ=D| 196, 1332 *15ha 2,942

= 2,059

= 177

o 706

02010 =S EX Hel&Hg 956,000 *15ha 14,340

= 10,050

& 855

i 3,435

Zeltl 7,171

O At &3, 22l 239,033& *30ha 7,171

= 5,020

< 645
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SN BARE=X
HH: MAMEH 25
ool =2 ALY (sl &
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
YMEASXA S 225,237
= 228,620
402 It HE0lM 1,338,357 119,788 1,218,569
= 884,500
= 225,237
= 228,620
01 CIAX=Ex 1,338,357 119,788 1,218,569
ORsSEXNXE 2,537,133& x15ha 38,057
= 29,600
== 2,537
[ia 5,920
Ogdts ME 2 HXAE 78,400,000& 78,400
= 39,200
< 19,600
[ia 19,600
OEIDMEHAIE 4,800,000 *1H A& 4,800
= 2,400
S 1,200
s 1,200
Ogdts dateX =4 660,000,000 101 2 660,000
= 440,000
= 110,000
[ia 110,000
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SEAT=T T
MSMENH 23
=AY oede
2l (3171 of . Bl Atol e =2
OZtat4 4,275,000 *4ha 17,100
- 13,300
= 1,900
= 1,900
Ot *EESHNEH 540,000, 000& 540,000
= 360,000
= 90,000
= 90,000
SHolre X 32,200 13,500 18,700
= 15,600
== 4,980
iy 11,620
402 QI2EXE0| M 32,200 13,500 18,700
= 15,600
= 4,980
iy 11,620
01 QIZEX=E=x 32,200 13,500 18,700
Ogl=sas 2¢ 822 1,050,000& 16 A 16,800
= 7,200
T 2,880
= 6,720
Oy 8¢ 8= 3,033,300& *3CH 9,100
= 3,900
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SN BHET =X
Mo MRME 25
ool SE ALY (69l &2
SH-HH . H(BH) - HRAY - B2 Ofl AF o4 %g;ﬁ; HRE2
= 1,560
fiis 3,640
OgM M2 Al&XI&(20ha) 6,300,000& 6,300
= 4,500
= 540
s 1,260
A2l AS ALY 215,572 0 215,572
= 143,491
& 21,624
i 50,457
402 U2t THE0IH 215,572 0 215,572
= 143,491
= 21,624
i 50,457
01 2ARE2EX 215,572 0 215,572
OLR tas 2 517,0002 x2ha 1,034
= 517
= 155
i 362
OgUR U2 AN 2,000,000& *1km 2,000
= 1,000
< 300
s 700

_37_




SN BASE=RD
M MRMEH 25
ool =2 ALY chelE
CEERI(BIH) - IS A O &b o e =32t
O&HLE 253,800& x10ha 2,538
= 1,974
= 169
= 395
ogr thdl ==X 4,200,000& *50ha 210,000
= 140,000
o= 21,000
= 49,000
252 0r22] 70,540 70,540 0
282022 70,540 70,540 0
401 AlEHIZE0H] 70,540 70,540 0
01 Al&H| 70,000 70,000 0
osd 1,000, 000& *10ha 10,000
OstR 4t 50,000,000& 50,000
OstR 4t 'THAI AIHIAFS 1,000, 000& *10ha 10,000
03 Al&20iY| 540 540 0
OZ2d 2AelAtY 20| 50,000,000 *1.08/100 540
A EF A 16,290 50,050 N 33,760
N g= s e BTl el 16,290 14,050 2,240
201 Bt 2,800 1,050 1,750
01 AR 2,800 1,050 1,750
oedg 70,000& x5H *23| 700
Odte 7,000 * 150 *23| 2,100
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BALE=KD
SMEMEH ES
NPEEER, el H el
SN EY O (BH) - MR - Ba= Aol e =2t
202 04| 3,000 2,500 500
01 =LHAHI 3,000 2,500 500
O A =&Y 20,0003 »2H x50 2,000
OsgAg F=&0HY| 1,000
301 LEEAZ 490 500 A10
10 dHAIAHIEAZ 490 500 A10
OtEASAY NsEA B4 7,000 *x35% *23| 490
401 AlEHIZ 20| 10,000 10,000 0
01 Al&HI 10,000 10,000 0
OLEDNES ANEE= 10,000,000& *1 10,000
=2\ ,061,253 842,938 218,315
=2 140,982
& 65,193
= 855,078
MEEH 29 281,010 215,278 65,732
= 41,800
& 20,561
i 218,649
201 LBt 34,635 35,720 A 1,085
= 5,470
& 2,462
= 26,703
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A=A
MEMUENH 25
NE==PN el dH
A BB S(S) - NEAY - BES sy e =5

206 M =4l S 2,777

= 6,478

01 THZHI 15,425

O &S &l & 61,7003 x250H 15,425

= 6,170

S 2,777

[ia 6,478

308 AXIEHHMSOIA 152,050

056 XNXSHMARES 152,050

Q&g gxt= 152,050,000 = 1CH 152,050

401 AlEHI =20 10,000

= 4,000

= 1,800

= 4,200

01 AI&HI 10,000

O&EZ Aot EX(ZRAESEHI) 10,000,000 * 104 & 10,000

= 4,000

< 1,800

s 4,200

405 XtobE = 68,900

= 26,160

= 13,522

= 29,218
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4+ 155

> 12 i
I O oY
0T 0= 4>

X

X
>
=]

HL
fol

m

0
e
0

SN BB O (SH) - MRAY - HES 0l o e =
AR 2 EH S 68,900 12,900 56,000
OR&EI| 72 800, 000& »3CH 2,400
= 960
= 432
o 1,008
OJlH st Mr=2ESAIAE MEFY 3,500,000 *2CH 7,000
= 2,800
& 1,260
= 2,940
OJIH S MEUYAIAE RA(FH) 6,000,000 *1CH 6,000
= 2,400
= 1,080
i 2,520
OFHG=ZHA HEAS HHl 72 350, 0002 *10CH 3,500
= 1,750
o 1,750
Q& =dstxte 50,000,000& = 1CH 50,000
= 20,000
& 9,000
= 21,000
A=Y X XA 780,243 627,660 152,583
= 99,182
L= 44,632
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M oM oY
0% 0z 4>

X

=
=
1]

HL
fol

SA B Sl (31H) - HyS e =
A=Y X XA = 636,429
101 21244l 702,249
= 88,184
L= 39,683
= 574,382
10 JIZtH2Z2AHSES 702,249
Ot 2ZEAIE 2124d| 438,588
-4 33,0003 *10E +312L 6 61,380
=Jls 32,0003 138314 «63 77,376
— gt 31,0003 52 312U «6°H 299,832
QUEdZ U & SHH 5,640,000& 39X 219,960
= 87,984
& 39,593
i 92,383
Out=2d s = 250,000& »2& 500
= 200
& 0
i 210
OU=22ZARA 408 = 438,588,000& *0.0985 43,201
201 LBH24| 59,100
= 5,640
= 2,538
= 50,922
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Pl
=

=

X Jir

Xz rz
HE 0% o
0 0% 4>
T
fol

X

- SRI(2IAH) - NI AL

P
2

2,500
500,000 x5S B4 2,500

13,394

= 5,358

= 2,411

2 5,625

13,394

2,450,0002! *2ha 4,900

2 1,960

= 882

2 2,058

SE AZS=H /AT =4 4,247,0002 *2ha 8,494
= 3,398

= 1,529

= 3,567

167,126

=2 76,494

= 20,769

2 69,863

El 14,000
14,000

14,000

o 4 14,000, 0008 *13] 14,000
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SN BARE=X
HH: MM 25
el AR SR (o e
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
StEESE M WX 163,126 86,736 66,390
= 76,494
S 20,769
= 55,863
101 el AH| 97,073 30,447 66,626
= 48,601
S 14,542
= 33,930
10 JIZHZ2Z2NSES 97,073 30,447 66,626
OuSEHE MEXZAE U 93,408,000& »1& 93,408
= 46,704
= 14,011
s 32,693
OXNl=d MM 2 122,700& *10ha 1,227
= 637
= 177
o 413
O=s4d MM e2(eltt2AH) 121,900& *10ha 1,219
= 630
S 177
s 412
O=sd LML AR (IIE) 121,900& *10ha 1,219
= 630
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B BHAC=X D
S MEMEIH BS
el AR SR (o e
SH-EH . O(E) - MBAY - B of Ao S HRS2
T 177
= 412
202 O4d] 1,400 1,500 A 100
01 20yl 1,400 1,500 A 100
odtgldolls =& ol 20,000& »2H *35 1,400
206 MM ZH| 6,000 6,000 0
01 M ZHl 6,000 6,000 0
Bos4 9 F 29 Hols dHsS 2H2Y 3,000,000 x23| 6,000
401 AIEHIZ2Ub] 45,653 46,789 AN1,136
= 26,393
== 5,777
o 13,483
01 Al&H| 45,653 46,789 A1,136
OAURIHAES MDIAMS HA 17,835& * 1,000 17,835
= 12,484
& 1,605
o 3,746
ORTAUSP B=UE I =X AHSBha) 8,890,000 8,890
= 4,445
== 1,333
= 3,112
OLEAUSR BE=H BEALS (2ha) 18,928,000& 18,928
= 9,464
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SH BEAT=T
A AMEMEH ES
el AR BERL el H )
SN EY O (BH) - MR - Ba= Aol e =2t
stttz 422 = 120,407
201 YB3 600 600 0
01 AtS2teldl 600 600 0
Oget=ZH| 600, 000& 600
401 Al&EHIL 2040l 244,503 131,109 113,3%
= 73,350
& 51,346
i 119,807
01 Al&H| 244,503 131,109 113,394
OS2 FH| 30,562,875& *8km 244,503
= 73,350
= 51,346
o 119,807
SHEIIEAIE K3 AL 130,000 0 130,000
& 90,000
= 40,000
401 AlEHIZ 20| 130,000 0 130,000
L= 90,000
= 40,000
01 Al&HI 130,000 0 130,000
Ostd 2B& s&x 4 50,000,000 * 14! 50,000
== 50,000
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SN BALE=X D
Mo MRME 25
Chel: ARt BERR el H el
CESI(SIH) - HISAY - BYS Atol e =32t
OSitZ HIAIE &KX S 80,000,000 * 14! 80,000
T 40,000
= 40,000
AMEE S USANY 241,393 209,385
= 144,836
== 28,967
o 67,590
101 ol 24| 235,092 203,893
= 141,055
& 28,211
o 65,826
10 JI2HHIZ2 84 235,092 203,893
ONEHESUSIAIY o122 1,100,000& *10& x19Y 209,000
= 125,400
== 25,080
o 58,520
ONEESUSIAIY B8 = 123,642 *10& *19Y 23,492
= 14,095
T 2,819
= 6,578
ONHESUSIAIY nNe=d 200,000& *13H 2,600
= 1,560
o= 312
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FA:
X XH -
o Tt

o2l

S$E=E=X1H
MEUEH 23
AEE 2&2

m
0

[l
0

CERI(BIH) - NIRAY - A S Akl e =

=2 A = 7,816

101 21244l 27,916 25,687 2,229
= 16,750
L= 3,350
= 7,816

10 JI2tH22 Xt 27,916 25,687 2,229
O=Z At 1,395,800 x2Z + 10 27,916
= 16,750
& 3,350
o 7,816

25 FHIAE 58,086 52,800 5,286
= 3,612
& 3,660
= 50,814

401 AlEHIL204bI 58,086 52,800 5,286
= 3,612
& 3,660
= 50,814

01 Al&Hl 58,086 52,800 5,286
OEs+ i 4,840,500 =122 58,086
= 3,612
< 3,660
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SA SRS
A AMEMEH ES
cel: MEIE BEDL (el @l
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
i 50,814
AHEE AL 148,553 97,965 50,588
AFALER RIEX S+ 148,553 97,965 50,588
401 AlEHIZ S OHY] 50,000 50,000 0
01 A&l 50,000 50,000 0
OArgt & AHALER o=+ BHYRX 243 50,000, 000& 50,000
403 XX EHXH S X=01 & 98,553 47,965 50,588
02 ZII&SOICHECHE At B 98,553 47,965 50,588
OMEH ANZREZ 22,946,000 404 A 91,784
OAtE AL EtE A E Ot 353,250 *4H A 1,413
OAEX B 19,0003 *2JH &~ 38
oA 34 39,7143 *7I1 & 278
OMEH =4 AZRES 630, 0002 *8IH & 5,040
AT AL 683,092 744,461 A61,369
s 382,400
& 47,800
i 252,892
L AA 590,092 523,831 66,261
s 382,400
& 47,800
= 159,892
401 AlEHIL204bI 590,092 523,831 66,261
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HL
fol

m
0
]
o

S - BB - B9I(3]H) of . Bl Atol e =32t
401 AlEHIZLE20H] s 382,400
= 47,800
o 159,892
01 Al&H| 578,000 513,940 64,060
OUZ A S A (1.4km) 313,200, 000& 313,200
g 210,560
== 26,320
o 76,320
OL = ZINZFAFH (3.0km) 186,000,000 186,000
g 148,800
T 18,600
= 18,600
O E 2= AL (6.4km) 28,800,000& 28,800
g 23,040
o= 2,880
= 2,880
O AIEAIYE HAUZX BA4Z 50,000,000 50,000
02 Ze2ldl 8,765 5,406 3,359
O AIEAISE Zelt] 528,000,0002! *1.66/100 8,765
03 Al =04bI 3,327 4,485 21,158
OUZTAIEAE 20HB] 528,000,000 *0.63/100 3,327
LS X2 93,000 220,630 A 127,630
201 LBt AH| 10,000 0 10,000
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SN B#FLE =R
HH: MRAMEH 25
ool AT ALY LRk
SH-HH . H(BH) - HRAY - B2 Ofl AF o4 aﬁiﬂgﬁ; HRZ2
01 AtR2telt] 10,000 0 10,000
OUST OHHAT HE & 5,000, 0002 *2JH 10,000
206 T2l 3,000 0 3,000
01 Tl 3,000 0 3,000
OYT HHEDY =35} HE P 10,0002 300 3,000
401 AlEHIL 20| 80,000 220,630 140,630
01 Al&H] 80,000 220,000 140,000
OYE EHII AL 50,000,002 14! 50,000
O AAOIBE Ul TH24 - BN LT BLAY 30,000, 0002 30,000
Zz JYxy 6,931,995 3,977,392 2,954,603
2 2,712,541
= 987,555
2 3,231,899
£9430| Abet 4,692,617 2,737,860 1,954,757
= 2,453,510
= 553,936
2 1,685,171
2z NIIRD) 644,802 448,260 196,632
2 392,696
= 75,659
2 176,537
101 oI2it| 581,959 390,493 191,466
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AT =TT
ZE oHEA
Z=0HRII ALY CHo M2
SN BB O (SH) - MRAY - HES Y =
0l &+

101 QI24H| = 354,936

& 68,107

= 158,916

10 JIZtHZ2Z2NSE+x 581,959

O33R o2y 1,334,630& * 103 x40H 533,852

= 320,312

o= 64,062

i 149,478

OS34EIRI] IsEHY| 360,000& »40H 14,400

= 14,400

OSSAEIIRI| A TR ZALE 1,685,350 x10E x2Y 33,707

= 20,224

= 4,045

o 9,438

401 AlEHIZL204YI 62,933

= 37,760

& 7,552

= 17,621

03 AlZ=C0HHI 62,933

OS34E IR 2 62,933,000 =14 62,933

= 37,760

= 7,552

= 17,621
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SN BESESNY
o m2 oARK
S =IHRI A (el &)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
=0U2=IH177] 2,619,452 2,289,600 329,852
= 1,304,750
& 278,504
= 1,036,198
401 AlEHIZ 2] 2,619,452 2,289,600 329,852
= 1,304,750
& 278,504
= 1,036,198
01 Al&HI 2,488,241 2,214,798 273,443
O=02 =FIIAZ 918,821& *2,500ha 2,297,053
= 1,147,937
& 242,622
i 906,494
OXSXAtZ= 2tel 457,3873 *418ha 191,188
= 95,594
& 22,943
i 72,651
02 Zeltl 122,500 70,000 52,500
O=U2 sItRIIAY 2l 49,000% *2,500ha 122,500
= 61,219
= 12,939
i 48,342
03 AlZSCHHI 8,711 4,802 3,909
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2 BPLE =N
B 22 oAEA
ool #1201 Abe) (cr9): 1 e)
S B HRAEH) - MRAY - B 0 & o4 e HlRE2
O=l2 sItRIIAY S0 2,419,554,000& * 0.36/100 8,711
MEAE PY= X4 1,006,300 0 1,006,300
= 500,000
= 150,000
= 356,300
401 AlEHIZL=20Y] 1,006,300 0 1,006,300
= 500,000
& 150,000
= 356,300
01 Al&H| 923,500 0 923,500
OXt=24dd MEAFRE = 24 923,500,000 * 170 2 923,500
= 461,750
= 138,525
i 323,225
02 Zeltl 76,500 0 76,500
OXt=439 MEB3I2 = 22l 1,500ha*51,000& 76,500
= 38,250
= 11,475
i 26,775
03 AlE=C0HHI 6,300 0 6,300
OXt=24d MBI R2Y = S0 1,000,000,000& *0.63/100 6,300
AHE BIOI RO A AL 421,973 0 421,973
= 256,064
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BPAC=TD
ZE oHEA
=R ALY S RECETD
SN EY O (BH) - MR - Ba= Aol e =2t
2 HiOI Ui A AN = 49,773
= 116,136
101 ezl 379,543 379,543
= 230,606
& 44,681
[ 104,256
10 JI2ZHH22HsSEs 379,543 379,543
OKrEuol2ilAs =88 E 1,861,715& x20H x10& 372,343
= 223,406
& 44,681
= 104,256
OLtEHI0I20HAs =8 EE =d 360,000& 20X 7,200
= 7,200
401 AIEHIZL SR 32,430 32,430
= 19,458
& 3,892
= 9,080
03 AlZ=CHI 32,430 32,430
O&tEHIOIQHA =& &8 20l 32,430,000& 32,430
= 19,458
= 3,892
o 9,080
405 KH&HFESHI 10,000 10,000
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H> 4K o
oY
o

@ H1
I
B3
IQ 0x E

S
=

m

0
e
0

SN EY O (BH) - MR - Ba= Aol e =2t

405 XH&HFE SHI = 6,000
& 1,200
= 2,800

01 AL =SFHSHI 10,000 10,000
Q&S HIOIQA =EHEE M= HHIPY 5,000,000 *2CH 10,000
= 6,000
o= 1,200
i 2,800

MEES ZotE2t &4 513,013 355,632
= 249,354
= 73,169
= 190,490

MEH= =4 201,440 201,440
= 100,000
& 30,000
i 71,440

401 Al&HI LSO 201,440 201,440
= 100,000
& 30,000
= 71,440

01 Al&H| 200,000 200,000
OME= LAY 200,000, 0003 * 1A 200,000
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A BHLE=XD
W T2 o¥XY
Chel: MEEY 2332 &4 (eol:de
SA-ZH - A(A) - MFAE - BES Ofl &N a%ggi; HREZ
2 100,000
== 30,000
2 70,000
03 Al&=0itl 1,440 0 1,440
OdElz ZHEAY 20| 200,000, 000& *0.72/100 1,440
AT TH(EX) 309,173 134,965 174,208
= 149,354
[ 43,169
=z 116,650
307 @itol™ 27,257 0 27,257
=2 16,354
[ 3.269
2 7,634
02 QItAAEX 27,257 0 27,257
OS2 ACIUI0IE(1A4H]) 11,583,5008 *2& 23,167
2 13,900
= 2,780
2 6.487
O+28 ACUIOIE(RSH]) 100,000 *2&H 200
2 120
= 24
2 56
O#28 ACUIOIE(R0HI) 1,945,000% *2& 3,890
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SN BARE=X
Hm: 2 oHIA
el ZEOREM AbY (o e
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
=XE2 ZEAY s 320,000
= 1,182,000
401 Al HI YL S OHHI 1,502,000 804,000 698,000
< 320,000
= 1,182,000
01 Al£HI 1,502,000 804,000 698,000
Odex=H =X32t Ab=2te| At 266,000,000& =14 266,000
S 80,000
s 186,000
Oxds NFClCEE URIIMY 666,000,000& * 14! 666,000
S 200,000
s 466,000
Ood get=ssn d86=20| S3AE 300,000,000 14! 300,000
Ood Nsstn &0 =)| seHAg 200,000,000& 14! 200,000
OYH=3tALS 20,000,000& 20,000
= 10,000
o 10,000
O2F £SAte & 50,000,000 14 50,000
< 30,000
[ia 20,000
HA=Axd 80,000 82,000 A2,000
< 40,000
2 40,000
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SA SRS
o m2 oARK
ool ZEoEIM A (el m el
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
401 AlEHIZLEL0H] 80,000 82,000 A2,000
= 40,000
o 40,000
01 Al&H| 80,000 82,000 A2,000
OEMAE=E JI2H X4 80,000, 000& x 1A 80,000
== 40,000
o 40,000
SAEEZEAY 16,628 20,012 N 3,384
= 9,677
= 450
o 6,501
101 el2ib| 13,628 14,012 N384
= 8,177
o 5,451
10 JIZHZ22XANHsSES 13,628 14,012 A\ 384
OEZAIsX2e|& elAh] 13,628,000& x1H 13,628
= 8,177
o 5,451
401 AIEHIZ20HY] 3,000 6,000 A 3,000
= 1,500
= 450
o 1,050
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e k!
ZE oHEA
FESExHE AY CHol: & 2l
SA - E S (3) - HIRA &k oy e =2
01 Al&HI 3,000 6,000 3,000
OEAIE AEH= At 3,000,000 3,000
= 1,500
= 450
i 1,050
=sNEgH2SA 54,733 53,195 1,538
101 2I244| 40,733 38,795 1,938
10 JIZtH2=HsSE=+ 40,733 38,795 1,938
Oo=sl&gHs 24 30,9003 6% 200 37,080
O=sXHge AHEER 37,080,000& +0.0985 3,653
201 etEd| 6,000 6,000 0
01 AtS2teldl 6,000 6,000 0
Os88 = JIHARXN =2t 3,000,000& 3,000
OUFIl S JIHASTEUH 3,000,000& 3,000
206 M =4l 8,000 8,400 2400
01 TH=ZHl 8,000 8,400 A400
O3d, 2+ dois ZH bl 4,000, 000& 23] 8,000
2y F2xF 70,000 120,324 AB0,324
401 AlEHIZ 204 70,000 120,324 A50,324
01 A&l 70,000 120,000 250,000
O=2&d JiZ2 dEAMY 50,0003 *800== 40,000
OXNE &2~-2F2 2 24 30,000,000& * 14 30,000
FEET Y Yt 3,004 2,620 384
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SN BALTSTD
o 22 oYXy
Pl FEAG LY AtY (9 &d)
. CHR|(B1H) - MR A Ao gggﬁ =2t
201 et 504 120 384
02 323l 504 120 384
Oung ZeA FHZAlL 17,0002 1200 & 204
Oulgtsd Ji2s dJIRks 25,000 1294 & 300
202 044l 2,500 2,500 0
01 =LA 2,500 2,500 0
os¥ 20,0003 x5& »25 & 2,500
HRes(Eds=E=xn 6,284,551 7,791,765 A1,507,214
= 1,720,000
= 180,000
= 4,384,551
LHEHcH KIS 3,640,551 5,134,365 A 1,493,814
= 90,000
= 3,550,551
FRINHEEHEES 2,223,697 1,937,900 285,797
& 90,000
= 2,133,697
701 JIEtIHEE= 2,223,697 1,937,900 285,797
= 90,000
= 2,133,697
01 JI&t 2,223,697 1,937,900 285,797
O+ g3lH &2 2,133,697,000& 2,133,697

_66_




SA SRS
HH: YRES(HILT=ND])
SR LHEAHAHX = (et &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
OodtE=XMel & JIMOoIXtasE MEZ2(2HWEAM) 90,000,000 90,000
= 90,000
ML EYHIIAHNES 701,854 2,481,465 AN1,779,611
701 JIEISIHAE =2 701,854 2,481,465 N1,779,611
01 JIEIBIHAEEZ 701,854 2,481,465 1,779,611
OM+-TAESEIHTES 701,854,000 701,854
HIIZX2IAIEISHEES 715,000 715,000 0
702 JI=28E2 715,000 715,000 0
01 JIS2&E=E2 715,000 715,000 0
QHIISH2AE FHIGXII|= 700,000,000 700,000
OHIIZ2HMeIAE BEIIZ2 =2 X 150,000,000& *10/100 15,000
BEXNES(=EMHLAILEL S H) 2,644,000 2,506,000 138,000
= 1,720,000
= 90,000
o 834,000
otEXeld Bidca A& 2,411,600 2,377,600 34,000
= 1,640,000
= 90,000
o 681,600
311 X 20| XHakst 499,200 478,000 21,200
=2 297,200
= 90,000
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SN BFLE=ND
HE: YRES(BILESND)
Crol: DETIE(SENAASHEH) (el a R
SA-FB L SA(3) - MEAY - BLS 0 &2 e B2
311 XL SO0l XH& & = 112,000
04 SLEIXLSO0IXt&FS 499,200 478,000 21,200
Oot+=3S2ZXE XY= Ol Atakst 450,000,000 450,000
= 248,000
= 90,000
s 112,000
Odt=1NTHMelAlI4 Xt&= OlXtate 49,200, 000& 49,200
= 49,200
601 MU= 1,912,400 1,899,600 12,800
= 1,342,800
= 569,600
04 SLEREXNL=A=as 1,912,400 1,899,600 12,800
Oot+=32ZXcE X2 A=zas 1,899,600,000& 1,899,600
= 1,330,000
s 569,600
Odt=1HdEXCIAE K= e 12,800,000& 12,800
= 12,800
St=2tH Skdelag &8 132,400 128,400 4,000
= 80,000
= 52,400
311 XL =0IXtae 28,000 24,000 4,000
= 16,300
= 11,700
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S BEAE =KD
HH: YRES(HALT=N D)
ool BRI (SENAAISE ) G
= X xH Ctel (o = (] IHAXZ OH @L‘jl‘:— =2t
04 SLTFIXLSO0IAAE 28,000 24,000 4,000
Odt=2tHEHIAIYE Xt = Ol Xttt 28,000,000& 28,000
= 16,300
s 11,700
601 XLsB=ate 104,400 104,400 0
= 63,700
= 40,700
04 SLERINUSESAES 104,400 104,400 0
Oct=ZHEHIAY Xtz 2S4E 104,400,000& 104,400
= 63,700
s 40,700
=5Hl EX3 ez 100,000 0 100,000
802 EratsJIEt 100,000 0 100,000
01 =21=2X3eE3z 90,000 0 90,000
O=1LExs a3 60,000,000 60,000
oHs&d 30,000,000 30,000
02 Al-& 10,000 0 10,000
OL&dlE 10,000,000 10,000
(IR aTNa] 50,000 0 50,000
OlHIEI (= AL S E 3| 50,000 0 50,000
GINa1Re] 50,000 0 50,000
801 oldldl 50,000 0 50,000
01 OilHIHI 50,000 0 50,000
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